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10.

OR(31214d1)

Explain the concept of "single level inheritance"
with an example.

Rirer dad s=Re=a @1 @R &1
ATETEROT AHSY |

Define the relation between structure and class. 6

FWHaR Yd FA1H & d19 Gagl dI gRHrida
& |

OR(3721d)

Discuss the purpose of using constructor and
destructor.

HcPHer dAdT fegdex & SUAT & a1 Bl
ST DI ATET B |

Explain inheritance and their types in detail. 6

gefRe—T Ud S YRl @ 94l B |
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2019(Even)

Sem. IV - CSE
OOP

Time : 3Hrs.

Full Marks :70
Pass Marks : 28
Answer all 20 questions from Group A, each question

carries 1 marks.

Tu-A 9w+l 20 ¥l @ IR T, UAS U BT A 13752 |
Answer all Five questions from Group B, each question
carries 4 marks.
7u—B & il uia gl @ SR <, UAD U BT 4 4 3B 2 |
Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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5. Define the following (i)
(a) Abstraction
(b) Polymorphism
frafafaa &1 aRafa a3
(31) TEEPHIH
@) uifermritsq

OR(372T1dT) (i)

Define structure and union.

TeaaR a1 I & aRafia & |

6. Explain data type in C++ with example. 4 (iii)

HN++ d STT TI3U B SSTeXYT dfed TSNy |

OR(3721d)

What is an array ? What are the advantage of it ?

W T2 ? 59 T BraS 2 |

(iv)

3 1618404

g7 | 3k @+ 7 alRa &1 mdR
AT B ?

(31 sraft=aas aRwya

(@) ®e & "odr

() & A SAT—3NAT B |

() & @ 3rarT LY 2

Size of C++ objects are expressed in terms
of multiples of the size of a .............. and
the size of char is ............

(a) char, 1

(b) int, 1

(c) float, 8

(d) char, 4

H++ sifsside BT AMTHR oo >
ATHR & I[UIHI & HaH d gad fHar
SITaT 2 3R UP auf &7 MhR ... 2
(31) char, 1

(@) int, 1

(|) float, 8

() char, 4

.................... have the return type void ?
(a) All functions

(b) Constructors

(c) Destructors

(d) None

P.T.O
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(xx) stdargh BSX BIgd d dBl B AT DI
I[/IA HIAT BT ?
(31) va list
(9) va_start
(|) va_arg
(@) d1$ =7

GROUPB

Answer all Five Questions. 4x5 =20

9l ufg g & SR o

2.

Write C++ program to illustrate an inline function.

4
STellsd B Bl UE1d &1 & forg i+
um ford |

OR(3721d)

What is the significance of operator overloading.

TRTY 3AMaRAIfST Bl wgdar &l ford |

N4062

(vi)

(vii)

(vii)

(viii)

5 1618404

Constraints @l H1 ®8T 14T 2 |
(31 di~c

(@) R

(3) srfec®

(?) @13 -7l

The decleration of structure is also called
as ?

(a) Structure creator

(b) Structure signifier

(c) Structure specifier

(d) None of above

AEAT DY "IYo & HY ST ar @ ?
(31) <= ffar

(d) G dHadd

(@) g fafadere

(?) @1 =&l

Which operator is having the highest
precedence ?

(a) Postfix

(b) Unary

(c) Shift

(d) Equality
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(xvi)

(xvii)

(xvii)

(xviii)
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IMMRTY BaRE & 3T A B g |
(31) B=HIE MARAITST

(@) IATIRTY AARATST

(¥) AR RS

(1) ®I$ |

What is most suitable for returning the
logical errors in the program ?

(a) Use constructor and destructor

(b) Set a global error indicator

(c) Use break keyword

(d) None of the above

aE H arfed Ffedl a1 dled &

fore wew arfere @ar 2 ?

(@1) dEcHex AR fSTEgFER &1 YA
P |

@) e dfaw Ffe gao dc a1 |

(A) 9 dIasS BT TANT B |

(3) BIs =&l |

Which of the following can derived class
inherit ?

(a) Members

(b) Functions

(c) Both member and functions

(d) None of the above

N4062

(x)

(xi)

(xi)

(xii)

7 1618404

I M v B B HAd GHI AfeH
1G]

(31) g gRT did B

(@) dad 4 did

(&) ga& g Bicl

(?) ®1g H 9

How many minimum number of functions
are needed to be presented in C++

()0

(b) 1

(c)2

(d)3

HN++ fpa- & 4 SRE P oToxd
st o9 | HH ?

@) o

(@) 1

(|) 2

(<) 3

Function overloading is also similar to which
of the following ?

(a) Operator overloading

(b) Constructor overloading

(c) Destructor overloading

(d) None
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11.

OR(3121dT1)
Write a C++ program to demonstrate inheritance.

AN++ T A7 geRST B yefRfa &Y |

Explain the various features of OOPS 6

raoide ART=s U7 Ried &1 aarn
B |

OR(3121d1)
Write short note on following

(a) Destructor
(b) Pre processor directive

o wr wfera fewof forg |
@1 feegdexr
@) o TR sRfdea

Hkokok
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11.

OR(3121d1)
Write a C++ program to demonstrate inheritance.

HN++ ™ 7 RS B yelRia &Y |

Explain the various features of OOPS 6

ravide ART=s AT Ried @ aarEn
B |

OR(3121d1)
Write short note on following

(a) Destructor
(b) Pre processor directive

=1 v wfera fewofy ford |
(31) fe¥gder
@) W TR sRfdea

Hokk
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